



Fig. 5 Power-law dependence of integrand of equation (9) upon λ

Discussion

Within the degree of approximation of the mass-flux scaling rule, considerable freedom of choice of experimental conditions is possible. For example, scaled experiments could be conducted using different gases, at different temperatures and different velocities from the prototype, and provide useful quantitative results. It is interesting that the normal and streamwise coordinates do not scale with λ in the same way as shown by equations (11) and (13). While this does not detract in any important way from the utility of the scaling rule, it is important in that it demonstrates that a purely experimental determination of scaling parameters cannot be based upon centerline concentration measurements alone, as in the case of Zakkay and Krause.⁵ However, the results presented herein can be used to determine a streamwise scaling law for the axisymmetric free turbulent jet, again giving a simple power dependence upon λ but, in this case, the exponent is 0.65.

⁵ V. Zakkay and E. Krause, "Mixing Problems with Chemical Reaction," AGARD Combustion and Propulsion Colloquium, London, England, 1963, in *Supersonic Flow, Chemical Processes and Radiative Transfer*, Pergamon Press, London, England, 1964.

Starting Transients in the Response of Linear Systems to Stationary Random Excitation

J. R. RICE¹

THIS NOTE is concerned with the second-order statistics of the nonstationary response, $x(t)$, of a linear time-invariant system to a stationary random excitation, $f(t)$, suddenly applied at time $t = 0$. It is supposed that $x(t)$ satisfies the constant coefficient n th-order differential equation

$$L[x] = a_n x^{(n)}(t) + a_{n-1} x^{(n-1)}(t) + \dots + a_1 x^{(1)}(t) + a_0 x(t) = \begin{cases} f(t) & \text{for } t > 0 \\ 0 & \text{for } t < 0 \end{cases} \quad (1)$$

with the initial conditions $x(0) = x^{(1)}(0) = \dots = x^{(n-1)}(0) = 0$. An equation such as (1) would arise in the case of a vibratory mechanical system suddenly subjected to a random force or in the case of a random noise current suddenly switched into an electrical circuit. Such problems have been considered in [1, 2]² and other works cited therein. However, the relation between the non-

¹ Research Associate, Division of Engineering, Brown University, Providence, R. I.

² Numbers in brackets designate References at end of Note.

Manuscript received by ASME Applied Mechanics Division, September 9, 1964.

stationary response of (1) and the stationary response of the same system, to be discussed here, has not been noted previously.

Let $h(t)$ be the unit impulse response function satisfying $L[h] = \delta(t)$, where $\delta(t)$ is the Dirac delta. Then the solution of (1) is

$$x(t) = \int_0^t h(t - \tau)f(\tau)d\tau = \int_{-\infty}^t h(t - \tau)f(\tau)d\tau - \int_{-\infty}^0 h(t - \tau)f(\tau)d\tau \quad (2)$$

The last two integrals in (2) are readily identified. Let $s(t)$ be the stationary response satisfying $L[s] = f(t)$ for all $t > -\infty$. Then the first integral in (2) is $s(t)$ and the second integral represents the response of the system at time $t > 0$ to the excitation $f(\tau)$ applied for only negative time. Thus, the second integral is simply the solution of $L[y] = 0$ under the initial conditions $y(0) = s(0)$, $y^{(1)}(0) = s^{(1)}(0)$, \dots , $y^{(n-1)}(0) = s^{(n-1)}(0)$. Therefore, (2) becomes

$$x(t) = s(t) - s(0)g_0(t) - s^{(1)}(0)g_1(t) - \dots - s^{(n-1)}(0)g_{n-1}(t) = s(t) - \sum_{j=0}^{n-1} s^{(j)}(0)g_j(t) \quad (3)$$

where $g_j(t)$ is the solution of $L[g_j] = 0$ with the initial conditions that the j th derivative, $g_j^{(j)}(0)$, equal unity and that all other derivatives vanish.

With the expression of (3), the statistics of $x(t)$ may be expressed in terms of the statistics of the stationary response, $s(t)$, to the excitation $f(t)$. Let M_s and $R_s(t_2 - t_1)$ be the mean and covariance of $s(t)$:

$$M_s = E\{s(t)\} \quad (4)$$

$$R_s(t_2 - t_1) = E\{[s(t_1) - M_s][s(t_2) - M_s]\}$$

Then the mean of $x(t)$ is

$$M_x(t) = E\{x(t)\} = E\{s(t)\} - \sum_{j=0}^{n-1} E\{s^{(j)}(0)\}g_j(t) = M_s[1 - g_0(t)] \quad (5)$$

since the expected value of any derivative of a stationary process is zero. Since $g_0(0) = 1$ and $g_0(t) \rightarrow 0$ as $t \rightarrow \infty$, the mean of $x(t)$ is initially zero and approaches the stationary mean M_s for large t . The covariance of $x(t)$ is

$$\rho_x(t_1, t_2) = E\{[x(t_1) - M_x(t_1)][x(t_2) - M_x(t_2)]\} = E\left\{ \left[s(t_2) - M_s + s(0)g_0(t_2) - M_s g_0(t_2) + \sum_{j=1}^{n-1} s^{(j)}(0)g_j(t_2) \right] \left[s(t_1) - M_s + s(0)g_0(t_1) - M_s g_0(t_1) + \sum_{j=1}^{n-1} s^{(j)}(0)g_j(t_1) \right] \right\} \quad (6)$$

Upon performing the foregoing multiplication and taking expectations, noting from (4) the result

$$E\left\{ \left(\frac{d^j}{dt^j} [s(t_1) - M_s] \right) \left(\frac{d^k}{dt^k} [s(t_2) - M_s] \right) \right\} = (-1)^j R^{(j+k)}(t_2 - t_1) \quad (7)$$

the covariance of $x(t)$ becomes

$$\rho_x(t_1, t_2) = R_s(t_2 - t_1) - \sum_{j=0}^{n-1} (-1)^j [R_s^{(j)}(t_1)g_j(t_2) + R_s^{(j)}(t_2)g_j(t_1)] + \sum_{k=0}^{n-1} \sum_{j=0}^{n-1} (-1)^k g_j(t_1)g_k(t_2)R_s^{(j+k)}(0) \quad (8)$$

